Functions 1a1
I. If f(x) = x2 , then 

1. The domain of the function is:


    (a) All Real Numbers  (b)  
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  (d) Integers  (e) Whole Numbers

2. The range of the function is:


    (a) All Real Numbers  (b)  y ≤ 0  (c) 
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  (d) Integers  (e) Whole Numbers


3. If an input of x = -3 is put into the function, the output number is:


   
(a)  3

(b)  9
  
(c) -9

(d)  -6

(e)  6 


4. What is f(-2) ?



(a)  -2

(b)  2

(c) -4

(d)  4

(e)  not defined


5. What is f(5) ?



(a)  -5

(b)  5

(c) -25
(d)  25
(e)  
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II.  If g(x) = 
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, then
6. g(1) = ?


 
(a) -5

(b)  5

(c)  -1

(d)  1

(e)  -8


7. g(3) = ?



(a) -3

(b)  3

(c)  -6

(d)  6

(e)  -9


8. g(-3) = ?



(a)  0

(b)  -2

(c)  -3

(d)  -9

(e)  9

9. g(0) = ?



(a)  0

(b)  1

(c)  -1

(d)  3

(e)  -3


10. g(100) = ?



(a) -200
(b) -203
(c) -197
(d) 197
(e) 203

III.  If h(x) = 
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11.  h(3) = ?



(a) 
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(b) 
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(c)  4

(d) 2

(e) -2


12.  h(0) = ?



(a)  0

(b)  1

(c)  2

(d)  3

(e) not defined


13.  h(-1) = ?



(a)  0

(b)  1

(c)  2

(d)  3

(e) not defined


14.  h(8) = ?



(a)  9

(b) 
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(c)  
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(d)  -3

(e)  3


15.  h(-5) = ?



(a)  -4

(b)  4

(c)  -2

(d)  2

(e) not defined
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